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Minitab Assignment 6
The purpose of this assignment is to observe confidence intervals for a population mean in repeated sampling from a normal population where ( = 100, and ( = 15.
Drawing samples from the population

Calc>Random Data>Normal and then fill in 500 as the number of rows to generate, store the results in column c1-c40, and fill in for Mean 100, Standard deviation 15. OK.

Construct 95% confidence intervals estimates for the population proportion using the data

Stat>Basic Statistics>1-Sample Z, “one or more sample each in a column” fill in for samples columns, c1-c40, Known standard deviation, 15. Click on Options and Confidence level should be 95.0. Alternative should be “(”. OK. OK.

Construct a graph of the confidence intervals.


Graph>Interval Plot, choose “Multiple Y’s, Simple” OK. Graph variables c1-c40 and click on “Scale” and in the tab “Reference Lines”, “Show reference lines at Y values” enter 100. OK. OK.
Now print the session and graph windows, do not print the data window and exit.

In the session window printout the last column contains the 95% confidence intervals for (  in which we are interested. 

1.
How many of the 40 95% confidence intervals would you expect to contain the population mean of 100? (The “good” intervals)


______

2.
Circle, check, or highlight the confidence intervals on both the session window and the graph that you got that do not contain 100 (the “bad” intervals). How many did you find?


______

3.
So how many are “good” intervals, that is how many do contain the population proportion? (This is 40 minus the number of “bad” intervals you counted.)
______

4.
Compare your results with those of several other students. 


Fellow student 1 had ________ good intervals.


Fellow student 2 had ________ good intervals.


Fellow student 3 had ________ good intervals.

